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How much is it worth if it has 2t — MW 77D T 792 NONT

OVERVIEW

21y9x ' ruled that in a case of Tvwa o°p178 1w if one is holding the "o
and the other the 21']‘1131, each one receives what he is holding. X129
explained this to mean that we evaluate the difference between a 70w which
has a1 (which is written in the A7) and a "Ww which has no 3j21. That
difference is given to the one who holds the 7710 and they divide the rest of
the money.” *"21 and noon both explain (in their different ways) why is it
that we only assess the value of 141 which is written in the 7710 and not the
other aspects which are written only in the 770 or in the 0910.

— D9V NNINK NVIWA 33) Y2INT 1220W XY MM MDY MPNT >7W9 W9
»'"w9 explained that we do not include in the assessment of the 7710 that it
contains the amount of money that is owed and the names of the m* and
Yo%, since these items are also written in the last line of the 20w in the

oP -
— 15 1311 NHYNYN [12] 2IND (3,n0p 97 xINa N32) JINT IPIY NI

which is the main part of the "vw, as the mwn» taught, 'if it was written

above (previously) that the loan was for a %, etc, and at the bottom
(conclusion) of the 70w two hundred, we always follow the bottom’. Therefore the only
advantage of the 770 over the 0910 is the a1 which does not appear 09102 ANIAR ALWA.

MooIN asks on *"wo:
—30Yn NN PYIY 7991 “N2INR NOIWN PTINAY PR XD 112

' The oo is the standardized form of a 7w (including the 71AX 7v*w which repeats what is mentioned
previously in the 70w) and includes the signature of the witnesses.

2 The AN includes all the pertinent information of the 7uw such as the names of the m%» and m>, the
amount of the loan, and the date of the Tvw.

3 Let us assume that the total value of the 20w with the 11 is a hundred 177 (see following 112m1 7'"7 mMooIN),
and the value without the yar1 is eighty 17 (a difference of twenty 17); if the m>n is holding the a1, he
receives twenty 117 plus forty (half of eighty) for a total of sixty 11. If the m> is holding the y»7, we deduct
twenty from the total and divide the remaining eighty, so he pays the m>» only forty 1.

*X,2"0p 2"2. The o*na1 were concerned that perhaps the 2>y will leave some space between the last line of
the quw and their signature. The 712 (who is holding the 7uw) may be tempted to add something (in his
favor) in the space between the 7w and the signature. Therefore the 0 mdn instituted that the last line of a
W is meaningless, and we merely repeat on the last line that which was previously written in the 0w. In
this way even if the 0°7v do not sign immediately under the Jvw and the m>» adds anything it will be
disregarded.

> How can *"vA equate the 770 (which is the testimony of the vw) with the (last line of the) 091 which is
meaningless?!
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And this is astounding (to say that the 091 contains the same as the 77n)!
for we do not derive anything from the last line of the "vw, and therefore
we merely have a repetition of the salient points of the 9u@ on the last line.

mooIN rejects s™"w statement that we follow the last statement of the “ww:
— NINN NVIYA 599910 NI NI NIYNY 2INIT PPNINN)

And that mwn, which teaches that if a 1% is written above and 0»nX» was
written below, the rule is that we follow that which was written last, the 7wn

is not discussing that it was written on the last line of the “vw, but rather later
in the "W, but before the last line.

mooin cites "wd further:
—19999°Y XY DY7Y2T W9 DN

And """ also explained that we do not assess the value of 237¥ as belonging
to the 0o -
— %9999 7598 1PN 1ANIY VWA AN DY IR IXYMI 12 PYNY 1297

Since »'"'2w9 maintains that if the Mm% admitted that he wrote the "ww,
then 213p is not necessary, therefore the signature of the 2>7¥ is of no value.

mooIn challenges this explanation:
— 7951y Y2 YOV 19 Y 1IN D31 DN IPRY IMN 2UN ONT 1NN IWIYD)

And s""v7 explanation concerning the 27V is astounding! For if we
consider the one who is not grasping the 2°7¥ in the "vw (the one who is
holding the 7n), as if he has a "vw without 2°7v -
— %9V NN XY 1) HNODN) 13 PYIY 1297 )5 ON

Then it will not work out even according to 2''aw" -

— 9509 NN 1Y Y9 PRY DIPN Y99 19PY 7598 INT 9207 31T
For granted that 2»p is not required, nonetheless if there are no >7v
monm at all, the 0w is 905!

M5OI continues to ask (on >"'wID):
— 4N X2 15 DIV XY DIV VYN T DVIVN 9N 9T NN NIV

And furthermore what is the advantage of the 5710 over the o210?! The

"uw is just as 1o without a o2 as without a 7=n -
— D109 NIN H0VUN 11 NNNX VIV 1PPIN PNN ONT

for even if one line is erased from the 2w, it is "0

% The ®n> 2 which we are discussing is in a case where the 7 (admits to borrowing but he) claims ny2.
7 a"y9 equates the one who is holding on to the signature of the 27y with the one who is not holding the
signature of the o7y, since the 0’7y are immaterial.
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mooin offers his explanation of our Xn3:
— PNV PR DD YOYNY NNAT Y W INT NIN

But rather we must certainly say that we do not assess any aspect of the

7vw which invalidates the ww if it is missing -
— ©7Y) MYNI NIV NIV VN 195 DIVN )N NNN NVIY VINYWI MY 797

For it is of the same value when one grasps one line of the o2 as if one

grasps the my» ;1% ;1% and 207 -
— ¥t X932 9139 N1 XY Y9 1IN DY

For the v is not valid without this (0910) as it is invalid without that
(@731 M ,mn ) -
— 7MW 1195 PHRY 10T XY TW TOUAY It YaN

However concerning the date, wherein the "vw is 9w> without a date, this

is what we assess; the value of the date which allows the m>n to collect from 2°021
Q>7aMIWwN.

moon informs us of a different approach to this issue:
— Moy1y DI9NY M NN 1990 95N 9TYHN ’a4 9NN 1ON9IN $5WI923)

And in the "»b219> 7170 it states, X' maintains it all depends on who is

grasping the signature of the 27y -
— 1131 9591127 195Y RININ 1999

And the *n%v1° argues on our X3 which mentions 27 -
— Bamenn 1y 892 9w 20w Pimas 100 11871 9210

For the "»>v17° maintains that sn2> 77%0% 57v and a "ww is "w> without
aRNN 9TV, MdoIn explains how we assess the value of the 7 nm >7v:
— 19501 519 X NNY 7598 PRY MY NN PRYI
And we assess how much is it worth (for the mbYn) to have the 72°nn *79, in
order that it will not be necessary to search out the 7799507 57V to verify the
validity of the 70w (and the date) -
— (X,97 97 XIM3 N32) VIV VYT NIVID NINN ND 59D

¥ Since (both) the m“n (and the 779) need the entire W including what the other is holding, therefore one
has no advantage over the other concerning any part of the 2vw which is essential for the v to be valid.

? See 3 MR O772R NOM2.

10 (2,7 115w oow72) K" MO K" PYeA.

"' This seemingly contradicts that which mao1n previously stated that any item which is indispensible to the
7uw cannot be included in the assessment.

2 See “Thinking it over’ # 1.

" There is a npY2nn as to which 0°7y create the efficacy of a qvw. According to »" it is the 72°nf *7¥ (those
who sign on the 7vw) which create the effectiveness of the Juw, while 21v°%X% " maintains that 77°0n 7
(those who witness the transfer of the qvw) are *nM>.

' Since a "uw is w3 without >N *7Y, it may be included in the assessment of the Tow.

' See “Thinking it over’ # 2.
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And the "n?21 does not agree with that particular opinion in ©ws w3 P

who claims -
95199 DIYNN 1Y HNOYMN 12 PYNVY 129 4204

That »''2w9 maintains SN2 325017 7Y, but rather the *»%w17> maintains that 32w
holds >n72 77°0n »7¥ like the other views in VWD Vi P75,

SUMMARY

There is a dispute between > and N1B01N why 17 1s the only item which is
assessed. According to *"w1 we cannot assess the names of the m? ,m%n, the
amount of money since they are repeated in the 710X 772 09, we cannot
asses the 0’7V since 3"2w7 maintains 1°°P% ¥"X N2 W2 770 so the 7Y
are superfluous. NMdOIN maintains that we cannot assess any item which is
necessary for the "vw, therefore we can only assess j27 (for a W 1s W2
without j11). The "n%w17° maintains that we only assess the 0’7y since they
maintain (according to 3"2w") that °n72 77°0n 7.

THINKING IT OVER
1. Why does the *»%w17° mention only 0°7¥ as the sole item which is assessed
in the qow;'® why does he not mention that we assess 17 as well?"

2. Mmoo explains that when the "n%w rules that we follow the o7y, it
means that there is an advantage of having n"v for that releases the m» from
searching for the n"y.'® In our case however, where the m> admits to writing
the 70w (and 3"2w1 maintains 1P "X 1200w W1 777), we do not need the
n"y, so what is the advantage of having the 1"y?

'® See footnote # 12.

' See (7 MX) 012K n272. . [The o*w1on do not offer the following answer to this question: Presumably 121
cannot be assessed since there is no advantage for the one who is holding the jn1; for even without the 1
we can ask the 77°0n *7v when the 0w was transferred, and collect from 2’72y 1wn from that date onwards.
Why not?]

' See footnote # 15.
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